

Page: 1 of 5

University of North Texas

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00010855	09-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Barraza, Ashley	940/369-5500	•
	Ashley.	
	Barraza@untsystem.e	edu

Supplier: 0000034578 TM Television 2440 Lacy Ln Ste 100 Carrollton TX 75006-6522 United States Ship To: This is not a valid Purchase Order.
This document is reproduced for reporting purposes only.

Attention: John Johns

Bill To: UNT System Business
Service Center
Send Invoices to:
invoices@untsystem.edu

1112 Dallas Dr., Ste. 4200

Denton TX 76205 United States

Tax Exer Line- Sch	mpt? Item/Description	Tax Exempt ID: Mfg ID	Quantity	UOM		Option: Standard Extended Amt	Due Date
1 - 1	LG 32" 4K UHD LCD Monitor - 16:9 - 32 Class - Vertical Alignment (VA) - 38 x 2160 - FreeSync		1.00	EA	426.25	426.25	09/23/2024
					Schedule Total	426.25	
2 - 1	Teranex Mini - SDI HDMI 12G	to	1.00	EA	517.75	517.75	09/23/2024
					Schedule Total	517.75	
3 - 1	Teranex Mini - Smar Panel	t	1.00	EA	84.55	84.55	09/23/2024
	ranei				Schedule Total	84.55	
4 - 1	SmartView 4K 2		1.00	EA	1201.75	1201.75	09/23/2024
					Schedule Total	1201.75	
5 - 1	Sony MDR-7506 Professional Headphone - Stereo		1.00	EA	110.50	110.50	09/23/2024
					Schedule Total	110.50	
6 - 1	Professional Services: Project Bundle for Dance		1.00	EA	30000.00	30000.00	09/23/2024



Page: 2 of 5

University of North Texas

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00010855	09-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Barraza, Ashley	940/369-5500	•
	Ashley.	
	Barraza@untsystem.e	edu

Supplier: 0000034578 TM Television 2440 Lacy Ln Ste 100 Carrollton TX 75006-6522 United States This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: John Johns Bill To:

UNT System Business Service Center Send Invoices to: invoices@untsystem.edu 1112 Dallas Dr., Ste. 4200

Denton TX 76205 United States

Tax Exen Line- Sch	npt? Item/Description	Tax Exempt ID: Mfg ID	Quantity	UO		Option: Standard Extended Amt	Due Date
Scii	Theater Specific installation tasks i attachment	.n					
					Schedule Total	30000.00	
7 - 1	1000' reel Cat6 cabl	e	2.00	EA	520.00	1040 00	09/23/2024
, 1	1000 reer each each		2.00	221	Schedule Total	1040.00	05/25/2021
8 - 1	Belden 4855R 12G-SD1 75 Ohm 4K UHD Mini Coax Video Cable - Military Green - 100 Foot		3.00	EA	957.95	2873.85	09/23/2024
					Schedule Total	2873.85	
0 1	Belden 4855RBUHD1		2.00		100 50		00/03/0004
9 - 1	12GHz UHD, 50 Pack 1 Piece BNC Compressic Connector for 4855R Mini-RG59		2.00	EA	190.50	381.00	09/23/2024
					Schedule Total	381.00	
10 - 1	Wiremold Eclipse PNO Latching Raceway Fitting - Raceway - White - 1Depth 0.6 i (1.6 cm)Height 1.1 i (2.9 cm)Length 8 ft (2.4 m)	.n	100.00	EA	3.71	371.00	09/23/2024
					Schedule Total	371.00	



Page: 3 of 5

University of North Texas

UNT System Business Service Center Denton TX 76205 **United States**

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00010855	09-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Barraza, Ashley	940/369-5500	-
	Ashley.	
	Barraza@untsystem.ee	du

Supplier: 0000034578 TM Television 2440 Lacy Ln Ste 100 Carrollton TX 75006-6522 **United States**

This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: John Johns

Bill To:

UNT System Business Service Center Send Invoices to: invoices@untsystem.edu 1112 Dallas Dr., Ste. 4200

Denton TX 76205 **United States**

Tax Exer Line- Sch	npt? Item/Description	Tax Exempt ID: Mfg ID	Quantity	UOI		Option: Standard Extended Amt	Due Date
11 - 1	20m ST (Male) to ST (Male) Aqua OM4 Duplex Fiber OFNR (Riser-Rated) Patch Cable - 100% compatible and guaranteedto work ir OM4 and OM3 applications	1	1.00	EA	57.38	57.38	09/23/2024
					Schedule Total	57.38	
12 - 1	Tripp Lite by Eaton Cat6a 10G Snagless Shielded STP Etherne Cable (RJ45 M/M) Pos Blue 7 ft. (2.13 m) 7 ft Cat 6a Netwrk Cable for Netwrk Device - 1st End: 1 RJ-45 Netwrk - Male 2nd End: 1 x RJ-45 Netwrk - Male - 10 Gbit/s - Patch Cable 26AWG Blue	x -	12.00	EA	18.87	226.44	09/23/2024
					Schedule Total	226.44	
13 - 1	Optical to electrica / Electrical to Optical converters for connectivity to TV Center	11	1.00	EA	3000.00	3000.00	09/23/2024
					Schedule Total	3000.00	



Page: 4 of 5

University of North Texas

UNT System Business Service Center Denton TX 76205 **United States**

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00010855	09-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Barraza, Ashley	940/369-5500	-
	Ashley.	
	Barraza@untsystem.e	edu

Supplier: 0000034578 TM Television 2440 Lacy Ln Ste 100 Carrollton TX 75006-6522 **United States**

This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Bill To: **UNT System Business** Attention: John Johns Service Center Send Invoices to: invoices@untsystem.edu

1112 Dallas Dr., Ste. 4200

Denton TX 76205 **United States**

Tax Exen	npt? Item/Description	Tax Exempt ID: Mfg ID	Quantity	UOI		: Option: Standard Extended Amt	Due Date
Sch 14 - 1	Analog Audio Cables to include:Phoenix RCAPhoenix to XLRRO to RCAXLR to RCAXLE to XLR	s to CA	1.00	EA	346.00	346.00	09/23/2024
					Schedule Total	346.00	
15 - 1	Miscelaneous Cables connectors and expendibles	3,	1.00	EA	750.00	750.00	09/23/2024
					Schedule Total	750.00	
16 - 1	Scissor Lift Rental two weeks	L ,	2.00	EA	1540.00	3080.00	09/23/2024
					Schedule Total	3080.00	
17 - 1	4 x 8 Layout Board for floor protection	on	20.00	EA	57.20	1144.00	09/23/2024
					Schedule Total	1144.00	
18 - 1	Fire Rated Plywood,		1.00	EA	100.00	100.00	09/23/2024
	sheet				Schedule Total	100.00	
19 - 1	Labor to move plywo	ood	1.00	EA	1000.00	1000.00	09/23/2024
					Schedule Total	1000.00	



Page: 5 of 5

University of North Texas

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00010855	09-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Barraza, Ashley	940/369-5500	-
	Ashley.	
	Barraza@untsystem.e	du

Supplier: 0000034578 TM Television 2440 Lacy Ln Ste 100 Carrollton TX 75006-6522 United States This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: John Johns Bill To: UNT System Business Service Center

Send Invoices to: invoices@untsystem.edu 1112 Dallas Dr., Ste.

4200

Denton TX 76205 United States

Tax Exen Line- Sch	npt? Item/Description	Tax Exempt ID: Mfg ID	Quantity	UOM	Replenishment PO Price	Option: Standard Extended Amt	Due Date
20 - 1	Shipping		1.00	EA Sch	750.00	750.00 750.00	09/23/2024

Total PO Amount 47460.47